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General Instructions:

(1)
(i1)

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D.
Section-A comprises of 8 questions of 1 mark each, Section-B comprises of 6 questions of 2
marks each, Section-C comprises of 10 guestions of 3 marks each and Section-D comprises
of 10 questions of 4 marks each.

Question numbers 1 to 8 in Section-A are multiple choice questions where you are required
to select one correct option out of the given four.

There is no overall choice. However, internal choices have been provided in 1 question of
two marks, 3 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.
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TUE-31/ SECTION-A
W HEA 1 H 8§ YHE W 1 3% € YOS W & 9N foeed 15U TN B, f9E 9 um w2
S TE famweq g1 ¥

Question numbers 1 to 8 carry one mark each. For each question, four alternative
choices have been provided of which only one is correct. You have to select the correct
choice.

3

— T TvmeE e
1500
(A) Wiasmm (B)  ¥Hid BFm
(C)  37Hig et 5w (D)  =Fia e g a3
The decimal representation of —-- will be -
1500
(A" terminating (B)  non-terminating

(C)  non-terminating repeating (D) nnn—t&mnwhng:mmpenﬂng
EIE fx) =2x— 5 F1 NG T W@l & N y-27 71 FAw 0 6y WD I AL

= =5 (5 (5 =5)
ﬁ — ﬂ‘. B ﬂ_. _] —,D] | - —
) (’* / ®) [ 2 9 2" e |
The graph of the polynomial fix}=2x—5 is a straight line which intersects the x-axis at
exactly one point namely :

w” k‘;u] ® (o _?5] 2 [%u] D) IE_;]

LY

5 AABC ~ APQR, Ty +2 RO & :
Q B
6 8
z z bb[ ,'%"'FZ..--"
= i w NS
£y e C
i I=R @B)/im © 4+\3 _{7}}3%@
If AABC ~ APOR, then y +z equals :
Q B
6 8
z A
ao° 30°

P Y R "
(a) 2+ (B) 4433 Q) 4+.3 (D) 3+443
D A tanx = sind5°cosd5° +sin30° &, 1 x FT TH &
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(A) 45° ® 9% Q@ 3 (D) %
If tanx =sin45%0s45° + sin30° then x equals :
@ & ® 9 © 3 © 3
TF FIET HE F Ao UF
(A) uiwE @) SEETEnd
(C) vadHend D) FwfEmdend
The reciprocal of an irrational number is :
(A)  aninteger (B) rational
(C)  anatural number (D)  irrational
o Y

T G x4y =0 T x+y= —7 T : Sunm
(a) wEat B A /?_. &
(C) FEEEAE (D) = o s
The pair of equations x+y=0and x+y= —7 has :
(A)  one solution (B)  two solutions T \’{
(C)  infinitely many solutions (D)  nosolution M“/——

=09 e - 1 — CS
1 + cost ‘

cosl 1 — cosh 1 — sing 1 —cost !
. O sinf = cp’/ 1+ cosl S8
B g
1+ cos® el
cosh 1 — cos8 1 — sinf 1 — cosfh s
) 1 —sin = M cosh e g 1 C
e afana s agem o1 £ - N i
T | awewa | SAas
R e W
10-20] 9 | || >

| 20-30 5 | /l/‘ " :

[ 30-40 3o . + S
40 - 50 18 o |
50 - 60 5 .

(A) 40-50 (B) 28-30 (C) 30-40 (D) 50-60 ?
The modal class in the following frequency distribution is - £ '8 Y
Class Frequency
0-10 'rﬁga_:f!
| 10-20 T
| 20-30 15
30-40 30 |
| 40-50 18
50 - 60 5
(A) 40-50 L@/zg-an {CJC(@ (D) 50-60
WUS-| / SECTION:
W HEE 9 H 14 H WEF ¥ 230w €
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Q ; R
af g U = BV € 94 5 cosecd=7 %, 2 <in + cos8 —1 1 AFEE HHL

e If 8 be an acute angle and 5 cosech =7, then evaluate

8 = I € aerE e 2
Tz 2 +4x—3x—18 ornot?
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16.

[ 55-105 | 16 |
105-155 2 |
155-205 18
205-255 | 11 | —
3197 JOR
TF FE % 50 Al g7 e &1 HEY) giawd 5eA 1 6
ﬁ ""-ﬁi—i."’ﬁ e v
0859 | 17
40E F9 | )
50 ¥ =9 29
80 FH 37
. 1008 FH 50

IR AFe ¥ UF FRARA 927 TR0
Given below is a cumulative frequency distribution showing the marks secured by
50 students of a class :

|  Marks Number of students |
|_Below 20 | Ve
.

Below 60 29

Below 80 37 |

Form the frequency distribution table for the above data.

W|UE-H / SECTION-C
Ty HEA 15 9 24 H TG % 3 3 £
Question numbers 15 to 24 carry three marks each.

& wufag Frys ABC, frd AB=AC 2, %1 g 7 41 CB W fiig E fea &1 3 ADLBC

AB _ AD
MEFLAC%.E’E@IW%E =

E is a point on side CB produced of an isosceles triangle ABC with AB= AC. H ADLIBC

and EF1 AC, prove that AB = AR
BE EF

FETE fx) = +13¢° +32x + 20 F B % 90 IO AfE T Tk LI -2 ¥
Find all thezemesufﬁiepniywrﬁalﬂx}=x3+13xl+3lr+2l] if one of its zeroes is —2.

U e TaTd 2R 105 97 1515 1 5.4, 90 HI| 0 ST 9.9, f 9w

Find HCF of 105 and 1515 by prime factorisation method. Hence find their LCM also.
379@T JOR

ity i F1E ot 5 R i 8q-+1 EAT 8q + 3 HGF 8q +5 FAN 8q +7 F T FE el g

T U § |

Show that any positive odd integer is of the form 8q+1 or 8q+3 or 8q+5 or 8q +7 where g
i&some integer.

sinA 9T secA F cotA % ®9 H =45 Fifag |
Express sinA and secA in terms of cotA.
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21.

22

3% T FETR 247 3x + p F1 TF YAF3 &, @ o0 80 Y% 0 Fna%! p A 4 96
Hifag
If one zero of the quadratic polynomial Z':l—&i-p is 3, find its other zero. Also, find the
value of p.
a % T W % fordl YRas Tl 9 ax+ Jy=a—3 99 12 +ay=a F F§ &0 701 ¢
For what value of a, the pair of linear equations :
ar+3y=a—3;12x+ay=a has no solution.

34T /OR
<1 FF Fie UF B & S F1 A 12 &1 SH 61 S deeH Woa S8 O T He 18
A 81w IW Fia
The sum of the digits of a two digit number is 12. The number obtained by interchanging
the digits exceeds the given number by 18. Find the number.

gz 7= aiawa 527 =1 5 24 B, o 9 559 x 9@ Sl
g (s E) s TEn

0-10 5
10-20 25
20-30 5
30 -40 18
40 - 50 7

If the median of the following frequency distribution is 24, find the missing frequency x:
Age (in years) Number of persons

p-10 5
10 - 20 - 25
20 - 30 x
30 - 40 18
40 - 50 7 {

—_—

i =qds ABCD &1 &0 ,wggﬁﬁapmmm& <&l E ¥ BC W 1
fag &1 fog wifsw 7% DFx EF=FBxFA

The diagonal BD of a parallelogram ABCD intersects the segment AE at the pan F, where
E is any point on the side BC. Prove that DF x EF=FBxFA
94T /OR

AABC ¥ af BDLAC 9 BC2=2AC.CD &, 1 fag #ifaw f& AB=ACE|
In AABC if BDLAC and BC’=2AC.CD prove that AB=AC.

TEFEmiga Sifas=T & ygm fa 99 98 =i .
[3 cosd3” )2 c0s37° cosech3®

sind7"® tan5® @n25° tands® tan65“ tanBs®
Without u&ang trigonometric tables, evaluate ;

3 cos43® cos37" cosech3®
( sind7* ] tan5® tan25° tand5® tan65° tan85”
=1 siiwE = FgeF 9 Fe
F Faenfiii =7 g
10 - 20 15
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20 - 30 30

30 -40 45
40 -50 12
50 - 60 18

Find the mode for the following data :
Marks Number of Students

10-20 15
20-30 30
30-40 45
40 - 50 12
50 - 60 18

|ug-g/ SECTION-D
IS AU T 4w T
Question numbers 25 to 34 carry four marks each.

%W%Jﬁﬁmﬁﬁum% 31 ZWEE T 3.5 —8 sl wF sioE Hem d

e Prove that 5 is an irrational number. Hence show that 3./5 —8 is also an irrational
number.

6. = TS O F ARE F1 fafy § v e
2r+3w=12,
I—y-1=0
5 W gR Fean e au - | 6 8 = it St
Solve the following pair of equations graphically :
2x+3y=12,
r—y=1=0
Shade the region between the two lines represented by the above equations and the x-axis.

tanf + —_
mﬁmm 20 2500 1 — gech + tant
tanfd — sech + 1

tanf teech — 1 _ ot ted
tan@ — secl + 1

Prove that -

yﬁﬁ:ﬁnﬁrﬁmaﬁmmmtﬁﬁﬁmeFEﬁhﬂ;

71 AR l(a
0-30 jr— =
30-60 2= <
60 - 90 . =
e 2 A6 vury =192 r ;
120-150 1
150 - 180 15;..; )\"b’k"ﬁ? = [0 —14(¢ )
ﬁw 150 I. — S—_H

If the mean of the following frequency distribution is 91, find the missing frequency

xand y:
N { s Pageﬂof]ﬂ
A n e =M




Classes  Frequencies

0-30 12
30 - 60 71
60 - 90 x

90 -120 52
120 - 150 y
150-180 11

Total 150

W s emE i k3T -3 T WIN 21 EEF:!T%, A e @ k 1 9 F6
FHi= |
If the remainder on dividing the poiwmnﬂ{ + 20"+ kx +3 by x—3 is 21, find the quotient

and the value of k. :
ww?ﬁﬁszmmm%ﬁqﬂmeﬂmaﬂtr =8 Fm a0 el e F
FeE T s ES e F oy o § a8 ﬁwaﬂﬁqﬁrqﬁrwuﬁ\ﬁnﬁm
Fifai

A boat covers 32 km upstream and 36 km dowmnstream in 7 hours. Also, it covers 40 km

upstream and 48 km downstream in 9 hours. Find the speed of the boat in still water and
that of the stream.

30. / fag Fifew i & wres BupEl & SFE! F1 FIE STH WG SIS & S F F1 F A
BT

Prove that the ratio of the areas of two similar triangles is equal to the ratio of the squares
on their corresponding sides.

379787 /OR
farg FfT o we S i § &l S o ) el 3 3 % M e A g
Prove that in a right triangle, the square on the hypotenuse is equal to the sum of the
squares on the other two sides.

\@ = =1 o= 9| =ifen Ecoszﬁﬂ“+35:ec23ﬁ —2_@11_45"

sin30° + cos-45°
2 cosZ60° + 3'5&1’.‘235.]“ -2 tanzﬁ_“
5'1:1231'!“ + cuszil:_:l"

Evaluate the following :

/lﬁ AABCH, BDLAC ¥ 991 AC'— AB'=BC ¥ fug = fFBD'=ADxDC
In a AABC, BDLAC and AC?— AB'=BC, prove that BD'=ADxDC

@ afe /3 cot’8—4cotd + /3 =0 &, T cot’+tan’ 1 HF T Hifare |
If /3 cot'8 —4dcotd+ /3 =0, then find the value of cot’d + tan’®

34.  fed m Atwe % fore 9 wH aren’ aur R afuw e’ 9 T
[ sig | feemtdl w1 Hen |

e ) 3
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‘41, ! for the given data

T

N =

ekl
SRR

Page 10,0f 10



